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3+5

Ql. (@ Simplify m xm = ™M 2
Answer ............... M ..............................
(1)
4 4~
(b)  Simplify % e -
e m
ANSWET .....eeeeeeeerereeee e e
(1)
. . naa = q" = -4
(c) Simplify fully P Z .E-
q
ANSWET ... T et
2 &
(Total 4 marks)
1 - pAl)
Q2. (@) Workout 47 +62 Fa ‘[2; R
z 2 =L = 2x3 -
.................................................................. TN Sy 2
ANSWET .......c........ 72‘ .........................
@)
(b) Write 1.38 as an improper fraction.
La€ 2 = 1e383BIR . ocn s
P 100 X T 1383 B e s
B B e S
x : '37 -------
c"l Answer ............ .‘_3_'7_, .........................
()
q q (Total 5 marks)
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1
Q3. Evaluate 257 x 10~ = 25 X ._1_.

Z
Give your answer as a fraction in its simplest form. lo
.................................................................................. T I T = S
loo
ANSWer ... 2.5 o.o{‘
(Total 3 marks)
Q4. et a+b =7 ®
(X‘)°=Xm Axb = 10 @
Work out the values of a and b.
From @ aqa=7-5
SRR (TBRET
ThH ~L% = J0
.................... GEBS sl
O :(b—-z)(.‘)——-S') Answer a=...... 2 ......... , b=§ .........
(Total 3 marks)
b = 2— or S - S or a = S" g 5 = Z '
=) az-§ or a =2
g
Q5. (a) Write down the value of 11° =
[
ANSWET .....L...o o i sarensssaassaisscssvses
(1)
1 LS
2 = —
(b) Findthe value of 83 == (ﬁ) = e
Answer...................4'.'. .............................
2
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() Simplify 62 x 144°5 = -—é’.; X 74 14.4-

Moo e A RN o L I
36
........................................ T e e
........................................ "'_.3'
Answer .................. .:3— ..............................
(©)}
(Total 6 marks)
Q6. Evaluate = JEZ x L
y 4
(@ 38Z x4 e Ew.k .
e e e G O W SRR SEEE o
3
ANSWET oo B
@
1 [ - [
G = T T T 0% T Toe
looo (3 1006 )
Answer ....... ___’L_.. ........... 6’0' ol
(OO0 @

(Total 5 marks)
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